KENDRIYA VIDYALAYA SANGATHAN KOLKATA REGION
SUBJECT: ACCOUTANCY
TIME ALLOTTED: 3 HOURS 														MAX.MARKS:80

General Instructions:
I. This question paper contains two parts A and B
ii. All parts of questions should be attempted at one place.
iii. Marks are indicated against each question.
PART-A (PARTNERSHIP AND COMPANY ACCOUNTS)
1. 	  State any two objectives of Employees Stock Option Plan.			   				      (1)
2. 	State two circumstances in which the sacrificing ratio is applied in the accounting treatment of the partnership firm.									    								(1)
3. 	Give any one difference between the Dissolution of Partnership and Dissolution of Partnership firm.                                                      					(1)
4. 	What is maximum permissible discount that can be allowed on the reissue of forfeited share?
(1)                                                                                     
5.    Name the two sub-headings under which the subscribed capital of a Company is shown in the note to accounts.						        											(1)
6. 	Bank of India ltd Issued Rs.20,00,000, 10% Debentures of Rs.100 each. State how much amount to be transferred to Debenture Redemption Reserve A/c ?									(1) 
7. 	Pass necessary journal entries relating to the issue of debentures for the following:
	(a) Issued Rs.6,00,000, 9% Debentures of Rs.100 each at a discount of 5%, repayable at a premium of 10%
	(b) Issued 20,000, 10% Debentures of Rs.100 each at a premium of 10% redeemable at premium of 5%                                                    							(3)
8. 	State the uses of security premium reserves.(Any three)			            				(3)
9. 	Mahesh and Ramesh are partners with capitals of Rs.50, 000 and Rs.60, 000 respectively. On 1st January, 2017, Mahesh gives a loan of Rs.10, 000 and Ramesh introduced Rs.20, 000 as additional capital. Profit for the year ended 31st March 2017 was Rs.15, 200. There is no Partnership Deed. Both Mahesh and Ramesh expect interest @10% p.a. on the loan and additional capital advance by them.  Show how the profits would be divided? Give reasons.			                               							                                                   (3)

10. 	A Company purchased a running business from M/s. Rai Brothers for a sum of Rs.15,00,000 payable Rs.12,00,000 in fully paid shares of Rs.10 issued at a premium of 20% and balance through cheque.
	The Assets and Liabilities consisted of the following
Plant and Machinery		Rs.4,00,000		
Stock			           Rs.4,00,000
Building			       Rs.4,00,000		
Cash			           Rs.3,00,000
Sundry Debtors	       Rs.3,00,000		
Sundry Creditors	       Rs.2,00,000
	  You are required to pass necessary journal entries in the Company’s books.						(3
11 	Godrej Ltd. has 20,000, 7% Debentures of Rs.100 each due for redemption on 31st March 2017. There is a balance of Rs.3,50,000 in Debenture Redemption Reserve Account on the date of redemption.
	   Pass Journal entries at the time of redemption of debentures.				 				(4)

12. 	X and Y are partners sharing profits in the ratio of 3:2. They admit Z for 1/4th share by paying Rs.5,000 out of his share of Goodwill of Rs.9,000.Z acquires his share in the ratio of 2:1. Goodwill already appears at Rs.30,000.
	  Give Journal entries to record the above transactions.										(4)
13. 
Iqbal and kapoor are in partnership sharing profits and losses 3:2. Kapoor died three months after the date of the last balance Sheet. According to the Partnership Deed, the legal personal representatives of Kapoor are entitled to the following payments:
	(a) His capital as per the last balance Sheet
	(b) Interest on above capital @ 3% p.a. till the date of death
	(c) His share of profits till the date of death calculated on the basis of last year’s profit
His drawings are to bear interest at an average rate of 2% on the amount irrespective of the period.
The net profits for the last three years were Rs.20,000, Rs.25,000 and Rs.30,000 respectively. Kapoor’s capital as per Balance Sheet was Rs.40,000 and his drawings till the date of death were Rs.5,000. Draw Kapoor’s capital Account and his executors account assuming that the claim of the executors’is immediately sttled. 	Also Mention the values promoted by the firm								(6)																								
14. 	Asgar, Chaman and Dholu are partners in a firm. Their capital accounts stood at Rs.6,00,000, Rs.5,00,000 and Rs.4,00,000 respectively on 1st April 2016. They shared Profits and Losses in the proportion of 4:2:3. Partners are entitled to interest on capital @ 8% per annum and salary to Chaman and Dholu @ Rs.7,000 per month and Rs.10,000 per quarter respectively as per the provision of the Partnership Deed.
Dholu’s share of profit (excluding interest on capital but including salary) is guaranteed at a minimum of Rs.1,10,000 p.a. Any deficiency arising on that account shall be met by Asgar. The profits for the year ended 31st March 2017 amounted to Rs.4,24,000.
	  Prepare Profit and Loss Appropriation Account for year ended 31st March 2017.	(6)
15. Hanif and Jubed were partners in a firm sharing profits in the ratio of their capitals. On 31st March, 2013 their Balance Sheet was as follows: 
                        Balance sheet of Hanif and Jubed as on 31st March ,2013
	Liabilities	
	Q Amount
	Assets
	Amount

	Creditors
Worksmen’s compensation fund
General Reserve
Hanif’s Current Account
Capitals :
Hanif          10,00,000

Jubed           5,00,000

	1,50,000
3,00,000

75,000
25,000



15,00,000
20,50,000
	Bank
Debtors 
Stock 
 Furniture 
Machinery
 Jubed’s Current Account 
	2,00,000
3,40,000
1,50,000
4,60,000
8,20,000
80,000


________
20,50,000



On the above date the firm was dissolved
i)  Debtors were realized at a discount of 5%. 50% of the stock was taken over by Hanif at 10% less than the book value. Remaining stock was sold for 65,000.
ii) Furniture was taken over by Jubed for Rs 1,35,000. Machinery was sold as scrap for Rs 74,000.
iii) Creditors were paid in full.
iv) Expenses on realization Rs 8000 were paid by Hanif. 
Prepare Realisation Account.                                                       (6)



16. Mahesh Ltd. invited applications for 6,000 equity shares of Rs.10 each payable as follows:
On application-Rs.2
On allotment-Rs.3
On First class-Rs.2
On 2nd . And final call-Rs.3
Applications were received for 10,000 shares and directors allotted shares for 8,000 applicants. Manoj who has been allotted 500 shares failed to pay first call. Whereas, Kamlesh who applied for 600 shares paid the entire amount along with the first call. After giving sufficient notice all the shares allotted to Manoj forfeited and re issued to Prabhaker on payment of rs-4800. Pass necessary journal entries to record the above transactions.                                                   (8)
OR
Madhu Ltd. invited applications for 10,000 equity shares of Rs10 each at a premium of 10% payable as follows:
On application-Rs.2
On allotment-Rs.4 (including premium)
On First class-Rs.2
On 2nd. And final call – Balance.
Applications were received for 16,000 shares and directors allotted shares for 12,000 applicants. Manoj who has been allotted 500 shares failed to pay first call. And Kamlesh who applied for 600 shares Failed to pay on 2nd&final call. After giving sufficient notice all the share have been forfeited and re issued @Rs.8 per share fully paid up. Pass necessary journal entries to record the above transactions.

17. Raghu and Rajan are partners in a firm sharing profits in the ratio of 3:2. Their balance sheet as at 31/03/2015 was:
	LIABILITIES
	Rs.
	ASSETS
	Rs.

	Creditors
	27000
	Cash
	24000

	General Reserves
	18000
	Debitors            48000
	

	Bills Payable
	5000
	Less Provision    4800
	43200

	Capital A/c.
	
	Stock
	30000

	Nita
	40000
	Patents
	7400

	Gita
	35000
	Building
	20400

	
	125000
	
	125000


SEETA, a physically challenged is admitted into the partnership giving her 1/5th share in the profits. Sheeta is to bring in Rs.30,000/- as her capital and her share of goodwill in cash subject to the following terms.
Goodwill of the firm to be valued at Rs.50,000/-
Stock to be reduced by 10% and the provision for doubtful debit be reduced by Rs.2,400/-
Partners to be valueless
There was a claim against the firm for damages amounting to Rs.2,000/-. The claim has now been accepted.
Prepare Revaluation Account, Partners Capital Account and the Balance Sheet of the new firm.
(b) Give any two values highlighted in the above question.  									8 
OR
M.N and P were partners sharing profit and losses in the ratio of 1/2:1/3:1/6 respectively> Balance sheet of the firm as on 31st March 2015 stood as follows:
	Liabilities
	Amount
	Asset
	Amount

	Creditors
	9500
	Cash at Bank
	1250

	Bills payable 
	2500
	Debtor          8000
	

	General reserve
	6000
	Less Provision 250
	7750

	Capital account
	
	Stock
	12500

	M
	20000
	Delivery van
	4000

	N
	15000
	Machinery
	17500

	P
	12500
	Building
	22500

	
	65500
	
	65500



On 1st April 2015 N retired due to frequent illness subject to the following terms:
Goodwill of the firm is valued at Rs.9000
Machinery to be depreciated by 10% and delivery van by 15%
Stock to appreciate by 20% and building by 10%
Provision for doubtful debt to be increased by Rs.975
The provision for work men compensation is to be created to the extent of Rs.825
The amount due to N is paid immediately without transferring to loan account.
It was agreed that M and P will share the future profit in the ratio 3:2.
Prepare Revaluation Account, Partners Capital Account and the Balance Sheet of the new firm.
PART-B (ANALYSIS OF FINANCIAL STATEMENT)
18.	Z Ltd a manufacturing company received interest on 12% Debenture of X Ltd under what activity wills it come in cash flow statement of Z Ltd.                           						   (1)                                                           
19.	 Under what activity Dividend paid on share capital by the Financing companies will be shown.  	(1)
20. Under what main heads and sub heads of will you classify the following items in the Balance sheet of a Company as per schedule III of company’s Act-2013.
	(a) Bills receivable				(b) Bank overdraft
	(c) Long-term Investments		(d) Shares of Reliance Ltd.
[bookmark: _GoBack]	(e) Prepaid insurance			   (f) Building					              				(4)
  Also mention two values by the audited Financial Statements of a company. 
21. From the following Balance Sheets of Exe Limited as at 31st March 2014 and 2013, prepare a Comparative Balance Sheet.				                        					(4)
BALANCE SHEET AS AT 31ST MARCH 2014 AND 2013
	PARTICULARS
	Note
No.
	31stMarch2014(Rs.)
	31st March 2013 (Rs.)

	EQUITY AND LIABILITIES
    1. Shareholders’ Funds
           Share capital (Equity)
    2. Non-current liabilities
       Long term Borrowings: 8% Debentures (secured)
    3. Current Liabilities
         Trade Payables                                                                            Total

ASSETS
     1.Non-Current Assets
             Fixed Assets: Tangible assets
     2. Current Assets
              (a) Trade Receivable
              (b) Cash and cash equivalents
                               Total


	
	

18,00,000

6,00,000

6,00,000
30,00,000



18,00,000

10,00,000
2,00,000
30,00,000

	

12,00,000

6,00,000

3,00,000
21,00,000



15,00,000

5,00,000
1,00,000
21,00,000






22. 	From the following information, determine Opening and Closing inventories: 
	Inventory turnover ratio 	                                   5 times
	Revenue from operations			                        Rs. 2,00,000
	Gross profit ratio		                                         25%
	Closing inventory is more by Rs.4,000 than the Opening inventory 		       			(4)  

23) 	From the following information, prepare Cash flow statement
BALANCE SHEETS AS AT 31ST MARCH  2017 AND 2016
	PARTICULARS
	Note
No.
	31stMarch2017 (Rs.)
	31st March 2016 (Rs.)

	EQUITY AND LIABILITIES
    1. Shareholders’ Funds
          (a) Share capital 
          (b) Reserves and Surplus: 
                     Surplus, i.e. Balance in statement of profit and loss
    2. Non-current liabilities
            Long term Borrowings: 6% Debentures 
    3. Current Liabilities
            (a) Short term borrowings: Bank Loan
            (b) Trade Payable
            (c) Short term provisions: Provision for tax

                                                                            Total

ASSETS
     1.Non-Current Assets
             (a)Fixed Assets: 
                    (i) Tangible assets
                    (ii) Intangible Assets: Goodwill
             (b) Non-Current investments
     2. Current Assets
              (a) Trade Receivable
              (b)  Inventories
              (c) Cash and cash equivalents
                                                                                Total
	








1







2


	

8,00,000

3,50,000

       ----


50,000
75,000
65,000
 
13,40,000 




5,20,000
50,000
2,70,000

80,000
50,000
3,70,000

13,40,000
	

5,00,000

2,00,000

1,00,000

---

1,00,000
50,000

9,50,000




7,00,000
1,00,000
---

40,000
60,000
50,000

9,50,000





Notes to Accounts
	PARTICULARS
	31ST MARCH 2017
	31ST MARCH 2016

	1. Trade Payables
      Creditors
       Bills Payable

2. Tangible Assets
       Buildings
       Plant and Machinery
	
55,000
20,000
75,000

2,50,000
2,70,000
5,20,000

	
50,000
50,000
1,00,000

4,00,000
3,00,000
7,00,000




Additional Information:
1. Rs.50,000 as Interim Dividend was paid during the year
2. Building is sold at Book value
3  During the year depreciation of Rs 50000 Was charged on machinery .
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